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MR UK fF 17 R [k EEHR R ] 500
(500) & BiHE - HBRUXRAE (500)
<272, 586> bSO EREESERESEWEE
#HIE®% 2,500 - #HIERT 2,000 = 500
2 RBEEE 9,227 |4&EBE A145 BEOHESEERICET 2EE
0) (HEMR) BRMNERERE
9,227  #E%E - AES
A145
— AR ER 145
3 REBERE 263,815 |4 ERiE 14, 43715 THEHEEE| 41, 000850 BEICET IRE
_ 1 BEREEXRE [k 2 R B ER | 41,000
(41, 000) (& & B3R IFERE (41, 000)
<304,815>| BXHe IEHERE
8, 250 #1IE#% 73,000 - #HIERT 32,000 = 41,000
#hAE 10,100
8% - AEE
A3,913
— AR B 26, 563




(B - FA)

H 546,028 |4HFEELIR 14,292

(41, 500) (HFEER)
<587, 528> BXHE
8, 250
A E 10, 100
SEE - AES
A4, 058

— % BLR 27,208

6 BMKEXE 3 KEXE
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G 1 ELIE (18 1 &HLE

(B : FM)
FHIERTDEE i
= (#IE4E) B R W R R 5 &% B
<G
4 BREBE 298,300 | —#REtiE 25,000 [13 H5E8 12,480 (BB HEHE, BINRROEEELRUERFIZEST IESE
15 TEEEE| 12,520|__1 f HE S [ETENE] 10, 000
(25, 000) FiH (10, 000)
<323, 300> ESE F 0!
#WIE®% 34,520 - #HIERT 24,520 = 10, 000
2 TFHARELHEREEE N E3EET 15,000
RiEH (2, 480)
BEtEFREH
WIE% 2,480 - WHIERT 0= 2, 480
IXxFEE (12, 520)
IXHFaE
WIE®% 12,520 - #HIERT 0= 12,520
E 750, 686 | —ABEAR 25, 000
(25, 000)
<775, 686>
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(3) 8 K&

(18) 1 EBERE

(B : FM)
fHIERTDEE i
B (¥#1E%8) B B W R X5 *%5 R BA
G
3 ERFHHE 321,037 [4FEBE  A12,273]13 HFEH A3 00| ERDIHHRARICET 21FF
& 15 TEFEEE| A30,950|__1 HEERHE RERET 21,000
(A12,950) (BER) 17 N EHEE 6, 000 NEUEBAE (6, 000)
<308,087>| EEXHE AE THEEAE
A8, 673 (22 #f& - | 15,000 #IE®% 21,000 - #HIERT 15,000 = 6, 000
BXiHe RURES HE - HERUVEES (15, 000)
21,000 ERURICHESHER
HAE Al4,600 fHIE® 20,000 - f#iERT 5,000 = 15,000
[ERERER] A33,.950
— R BR A6T7 ZiH (A3, 000)
PSRN
WIE% 0 - #HERT 3,000 = A3, 000
IFHERE (A30, 950)
ERRBERIZE
#H1IE®% 40,050 - #HIERT 71,000 = A30, 950

8 TARE 1 ERIERE
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() 8 £KE (8 1 EBEBEE
(BB - FM)
WIERTOEE il
B (WHIEZR) B R AR X4 pott] B2l
<GP
£ 917,330 |HEBE  Al12,273
(A12,950) (FEMIR)
<904,380>| EEXHIE
A18,673
R HE
21,000
H51E  A14,600
— B A6T7




(3R 8 £KRE

(18) 4 BMHHEE

(B : FM)
FHIERTDEE i
B (¥#1E%8) B B W R X5 *%5 R BA
<G
2 HBEES 546,762 |45 TEIE  A2,625 MOTEEROERICET SEE
0) (HEMR) BRMNERERE
<546,762>| EEXHE
AB53, 625
#hAE 51,000
— AR B 2,625
3 FKEE 735,473 |—HREARE  A14,456 |19 8BS - #| A4 33| FKEBERHEZ~DEHSE
MR UK fF 1 TKEEZEEHS [BFERER ] A14, 456
(A14, 456) & B - BERUXTE (A14,373)
<721,017> 28 gHE A83 TRKEEXRGTEES
#HIE#% 633,700 - #HIERT 648,073 = A14,373
Be (A83)
BESEHKLERRFERIRFREE
#WIE®% 87,317 - #HIERT 87,400 = A83
E 1,712,700 |%EME  A2,625
(A14, 456) (W EBHR)
<1,698,244>| EEXHE
AB3, 625

wHE 51,000

—REEHR  AT1,831

8 TAE 4 MHHEE
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) 9 HHE (1®) 1 EIhE

(Bf : FA)
FHIERTDEE i
B (¥#1E%8) B B W R X5 *%5 R BA
<G
KRERKE 74,941 |—ABEAIR 1,032|12 5% 1LENR|KERMKIZET HRE
13 &34 260|_1  BHKHEEEE [EFRER] 1,932
(1,932) B%E (1,672)
<76, 873> RIEEMRE
#WIE®% 9,240 - #HIERT 7,568 = 1,672
FiEH (260)
EBERH
JWIE®: 24,240 - #HIERT 23,980 = 260
E 991,000 |—f%BAE 1,032
(1,932)
<992, 932>
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) 10 HEE (1®) 2 NERE

(B - M)
FHIERTDEE i
= (#IE4E) B R W R R 5 &% BILL]
<G
1 PRERE 280,505 | —fgBtiE 18,500 |13 Z5TH 18,500 /NERDEER VR OHBEEFICEY HRE
1 NP IR S [FREER] 18,500
(18, 500) FiH (18, 500)
<299, 005> REEEEEAN
WIE#% 30,500 - #IERT 12,000 = 18, 500
E 352,945 |—feEtim 18, 500
(18, 500)
<371, 445>

10 HEE 2 MERE
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F) 10 HEE

(18) 3 hERE

(B - FFA)

WIERTOEE
(FH1IE%R)
<GP

B R AR

I
&

=%

358

1 2REEE

225, 755

(A5, 660)
<220, 095>

— % BLR Ab, 660

b IEZFESE

ADb, 660

TERERBEOAGE, PEROEERUVEROHFEERZICET HRE

1 (=) a3

IEHEE
T

Z

=
ERE
HIER

XEE

izl Ab, 660

76, 040 - F@IEAT

81,700 =

(A5, 660)

Ab, 660

A

301, 898

(A5, 660)
<296, 238>

— % BLR Ab, 660
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) 10 B

(18) 5 HEBEFE

(B : FM)
FHIERTDEE i
B (¥#1E%8) B B W R X5 *%5 R BA
<G
1 HEBERHE 672,257 |4 ERE 1,400|19 &% - 44 LAO|HEHEBRBEDAKE, HEBESERUVHRBESXICET IRE
# MR UK fF 1 HEREEEE [k - RAR—VHEHEER] 1,400
(1, 400) (& & B3R & BiHE - HBRUXRAE (1, 400)
<673,657>|  EEURA 1,400 — a2 =T s BEE
WIE% 1,400 - WHIERT 0= 1, 400
4 XieBE 301,491 |—#RBHE 11,662|7 E& AL DRERVERICET HEE
9 fRE A jte ES A H IR [+ b 3R ER 11, 662
(11, 662) 12 &%E 15 =k (432)
<313, 153> 13 &34 10,192 XILB R EEE S
5 IEFEEE 1,000 MIE® 1,144 - WWIERT 712 = 432
i (23)
BER#HE
WIE® 23 - {HIERT 0= 23
"’HBE (15)
BISEMRE
WIE® 75 - HIERT 60 = 15
FiEH (10,192)
paldoyiiEie e -§: b Hd s
WIE®R 666 — f#IERT 474 = 192
XL EHLEMEB RN
#WIER 11,715 - #IERT 1,715 = 10, 000
IRFEE (1,000)
IXRHFaE
FHIER 1,000 - f#IERT 0= 1,000

10 HEE b HaBFE
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) 10 HEE (18) b #HE%FE
(B - FM)

FHIERTDEE i
] (FH1IE%R) B R AR X5 =% B
Gt
B 1,064, 819 |45 BHR 1,400

A

(13, 062) (HFEHR)
<1,077, 881> LA 1,400

— % BLR 11, 662

42




) 10 B

(18) 6 REHKHE

(B : FM)
FHIERTDEE i
= (#IE4E) B R W R R 5 &% BILL]
<G
1 REAERHE 72,543 |4 ERR 2,547|8 $RIEE 55| R EAEREFRBEDAGERVAREREICET 5EE
& 9 RE 1,701_1 HEAEEEE [k - RAR—VH#EEER] 2,547
(2, 547) (FFEBTR) 1nERE 83 MEE (555)
<75,090>|  SEURA 2,547|12 R 5% 5 ZE%HE
4 ERAHEY 203 HIE®R 555 — FHIERT 0= 555
EEH &= (1,701)
ERNNHRIRE
WIEE 1,917 - WHIERAT 297 = 1,620
AR E
WIE® 81 - HIERT 0= 81
T=HE (83)
RiZE
WIEHR 23 - HIERT 0= 23
F il S A B
WIE® 85 - fHIERT 25 = 60
"’HBE 5)
BISEMRE
WIE® 268 - {#IERT 263 = 5
ERAMNRUEER (203)
AHRHERBITHS
WIE® 293 - {HIERT 90 = 203

10 55%& 6 REKFE
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(B - FA)

) 10 HEE (R) 6 REHER
WIERTOEE il
B (WHIEZR) B R AR X4 pott] B2l
<GP
5 195,173 | 4¥EBIR 2,541

A

(2,547) (HFEER)
<197, 720> LA 2,547
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() 12 MEE (1| 1 NMEE
(BfL . FM)
WIERTOEE &
B (WHIEZR) B R AR X4 =% S BA
<GP
2 ®F 316,761 |—#RBAE  A85 63623 {HiES - FI| AS85 636[HABMOEEFFRU—BEASHF
FRUE 1 MEEFRTF (B4 BeER ] A85, 636
(85, 636) # EEE - FFREEIGIH (A85, 636)
<231, 125> EEFF
#HIE% 226,125 - #HIEART 311,761 = A85, 636
5 4,451,454 |—fiRBHIR A8, 636
(185, 636)
<4, 365, 818>
12 MEE 1 MRE
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27 25
26
55 26
( | 26 27
120,000 26 28
618,000 24 28
33,518 25 29 8,199 25,319 33,518
1,475,312 25 29 368,828 1,106, 484 1,475 31
490,664 25 29 104, 198 386, 466 490,(664
17,205 26 28 13,753 3,452 17,205
5,500 25 29 1, 375 4,125 5, 5|00
80,000 26 27 30,540 49,460 76,000 4, 000
268,800 25 29 67,200 201,600 149, 328 119,|472
242,800 25 29 60, 700 182,100 110, 780 132,|/020
12,780 25 27 6, 390 6,390 5,048 7, 7|32
92,684 25 29 23,506 69, 178 8, 000 84, 6
14( 3,753,583 15 30 2,404, 688 299,755 1,049,140348|, 89
15( 104,237 16 30 62, 435 8,361 33,441 41, 802
16( 202,561 17 32 97,010 16, 239 89,312 105,|551
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26

25
( 26 27
- - 3,465 20 44 2,841 624 624
- - 1,600 21 44 22 1,578 1,600
40,000 26 29 4,000 36,000 40, 000
179,600 24 28 44,900 44,900 89,800 134,|700
56,444 25 29 14,111 42,333 56, 444
L ! 30,397 17 31 17,973 2,119 10,305 12, 824
17 120,763 18 27 95,597 12,676 12,490 25,166
. ) ( 13,749 23 27 6,956 3,407 3,386 6, 7193
54 ) ( 20,668 25 29 4 5,172 15,448 20, 620
54 ) ( 76,154 25 31190 12,748 63,216 75, 064
2% ) ( 7,084 26 30 20 7,064 7, 084
11,578 26 27 5, 1502 6,426 11, 578
2,260 25 29 565 1,695 2, 2|60
172,460 25 29 43,115 129,345 172|460
8,253,866 2,732,638 1,157,675 3,625,553 67, 38
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24

25

24

15,79
1,359
74,
1,229
21,
1,309
94,
6,145
282,
5,275
67,
67,
10, 85
10, 45
124,
275,
26, 71

25

16, 29
1,684
104,
1,887
12,
1,369
396,
5,278
436,
5,121
58,
58,
11,01
10,70
100,
203,
27,36

26

26 26

(1,175

3,314 2,169
(19,

251, 130,
29, 5, 8
(14,

305, 123,

6. 3

(32
249, 135,

(179,

261, 9, 2

(272,

1,134 1,108
32, 41

(657,

1,049 609,
4, 3 9,1
4, 3 9,1

1,565 1,954

1,565 1,859

24,
69
(1,175
4, 884 4,133

26

17,43
1,805
127,
2,070
6. 3
1,483
648,
5,304
427,
5,561
53,
53,
10, 62
10,41
75,
133,
28, 11
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